Applied Mathematical Sciences, Vol. 1, 2007, no. 45, 2247 - 2252

A Tauberian Theorem for (C, 1) Summability Method

İbrahim Çanak

Adnan Menderes University Department of Mathematics 09010, Aydin, Turkey ibrahimcanak@yahoo.com

Mehmet Dik

Rockford College 5050 E.State Street Rockford, IL, 61108, USA mdik@rockford.edu

Abstract

In this paper, we retrieve slow oscillation of a real sequence $u = (u_n)$ out of (C, 1) summability of the generator sequence $(V_n^{(0)}(\Delta u))$ of (u_n) under some additional condition. Consequently, we recover convergence or subsequential convergence of (u_n) out of (C, 1) summability of (u_n) under certain additional conditions that control oscillatory behavior of the sequence (u_n) .

Mathematics Subject Classification: 40E05

Keywords: Slow oscillation, general control modulo, (C,1) summability, Tauberian theorem, subsequential convergence.

1 Introduction

Let $u = (u_n)$ be a sequence of real numbers. The classical control modulo of the oscillatory behavior of (u_n) is denoted by $\omega_n^{(0)}(u) = n\Delta u_n = n(u_n - u_{n-1})$. The general control modulo of the oscillatory behavior of order 1 of (u_n) is defined by

$$\omega_n^{(1)}(u) = \omega_n^{(0)}(u) - \sigma_n^{(1)}(\omega^{(0)}(u))$$

where $\sigma_n^{(1)}(u) = \frac{1}{n+1} \sum_{k=0}^n u_k$. The identity

$$u_n - \sigma_n^{(1)}(u) = V_n^{(0)}(\Delta u)$$

where $V_n^{(0)}(\Delta u) = \frac{1}{n+1} \sum_{k=0}^n k \Delta u_k$ is known as Kronecker identity. It is now clear that $\omega_n^{(1)}(u) = n \Delta V_n^{(0)}(\Delta u)$. Since $\sigma_n^{(1)}(u) = \sum_{k=1}^n \frac{V_k^{(0)}(\Delta u)}{k} + u_0$, Kronecker identity can be rewritten as

$$u_n = V_n^{(0)}(\Delta u) + \sum_{k=1}^n \frac{V_k^{(0)}(\Delta u)}{k} + u_0$$
(1)

in terms of $(V_n^{(0)}(\Delta u))$, the generator sequence of (u_n) . A sequence (u_n) is said to be subsequentially convergent [1] if there exists a finite interval I(u)such that all accumulation points of (u_n) are in I(u) and every point of I(u)is an accumulation point of (u_n) . A sequence (u_n) is (C, 1) summable to s if $\lim_n \sigma_n^{(1)}(u) = s$. A sequence (u_n) is said to be slowly oscillating [5] if

$$\lim_{\lambda \to 1^+} \limsup_{n} \max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^k \Delta u_j \right| = 0,$$

where $[\lambda n]$ denotes the integer part of λn . A sequence (u_n) is said to be $|C, 1|_p$ summable [3] if for p > 1

$$\sum_{j=1}^{\infty} j^{p-1} |\Delta \sigma_j^{(1)}(u)| < \infty.$$

A sequence (u_n) is said to be slowly varying [4] if

$$\lim_{n} \frac{u([\lambda n])}{u(n)} = 1$$

for $\lambda > 1$.

We now establish the main result and its consequences. As a corollary to the main result, we recover classical convergence or subsequential convergence of the sequence (u_n) .

Theorem 1.1 Let $(V_n^{(0)}(\Delta u))$ be (C,1) summable to s. If for some p > 1

$$(\lambda - 1)^{p-1} \limsup_{n} \sum_{j=n+1}^{[\lambda n]} \frac{|\omega_j^{(1)}(u)|^p}{j} = o(1), \quad \lambda \to 1^+,$$
 (2)

then (u_n) is slowly oscillating.

Theorem 1.2 Let (u_n) be (C, 1) summable to s. If for some p > 1

$$(\lambda - 1)^{p-1} \limsup_{n} \sum_{j=n+1}^{[\lambda n]} \frac{|\omega_j^{(0)}(u)|^p}{j} = o(1), \quad \lambda \to 1^+,$$
 (3)

then (u_n) is convergent.

The proofs are based on the following Lemma.

Lemma 1.3 [5] For $\lambda > 1$

$$u_n - \sigma_n^{(1)}(u) = \frac{[\lambda n] + 1}{[\lambda n] - n} (\sigma_{[\lambda n]}^{(1)}(u) - \sigma_n^{(1)}(u)) - \frac{1}{[\lambda n] - n} \sum_{k=n+1}^{[\lambda n]} \sum_{j=n+1}^k \Delta u_j, \quad (4)$$

where $[\lambda n]$ denotes the integer part of λn .

2 Proofs of Theorems

Proof of Theorem 1.1

Applying Lemma 1.3 to $(V_n^{(0)}(\Delta u))$ we have

$$\left| V_{n}^{(0)}(\Delta u) - V_{n}^{(1)}(\Delta u) \right| \leq \frac{[\lambda n] + 1}{[\lambda n] - n} \left| V_{[\lambda n]}^{(1)}(\Delta u) - V_{n}^{(1)}(\Delta u) \right| + \max_{n+1 \leq k \leq [\lambda n]} \left| \sum_{j=n+1}^{k} \Delta V_{j}^{(0)}(\Delta u) \right|.$$
 (5)

Since $(V_n^{(0)}(\Delta u))$ is (C, 1) summable, the first term on the right-hand side of (5) is o(1) as $n \to \infty$ and (5) becomes

$$\limsup_{n} \left| V_n^{(0)}(\Delta u) - V_n^{(1)}(\Delta u) \right| \le \limsup_{n} \max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^k \Delta V_j^{(0)}(\Delta u) \right|.$$
(6)

For the second term on the right-hand side of (5) we have

$$\begin{split} \max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^{k} \Delta V_{j}^{(0)}(\Delta u) \right| &\leq \sum_{j=n+1}^{[\lambda n]} |\Delta V_{j}^{(0)}(\Delta u)| \\ &\leq ([\lambda n] - n)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(1)}(u)|^{p}}{j^{p}} \right)^{\frac{1}{p}}, \text{where } \frac{1}{p} + \frac{1}{q} = 1 \\ &\leq ([\lambda n] - n)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(1)}(u)|^{p}}{j^{p-1}j} \right)^{\frac{1}{p}} \end{split}$$

$$\leq ([\lambda n] - n)^{\frac{1}{q}} \left(\frac{1}{n^{p-1}} \sum_{j=n+1}^{[\lambda n]} \frac{|\omega_j^{(1)}(u)|^p}{j} \right)^{\frac{1}{p}}$$

$$\leq \frac{([\lambda n] - n)^{\frac{1}{q}}}{n^{\frac{1}{q}}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_j^{(1)}(u)|^p}{j} \right)^{\frac{1}{p}}$$

$$\leq (\lambda - 1)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_j^{(1)}(u)|^p}{j} \right)^{\frac{1}{p}}.$$
(7)

From (6) and (7) we have

$$\limsup_{n} \left| V_{n}^{(0)}(\Delta u) - V_{n}^{(1)}(\Delta u) \right| \le (\lambda - 1)^{\frac{1}{q}} \limsup_{n} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(1)}(u)|^{p}}{j} \right)^{\frac{1}{p}}.$$
 (8)

Letting $\lambda \to 1^+$ in (8) and taking (2) into account, we deduce that

$$\limsup_{n} \left| V_{n}^{(0)}(\Delta u) - V_{n}^{(1)}(\Delta u) \right| \le 0.$$
(9)

From (9) we have $\lim_{n} V_n^{(0)}(\Delta u) = s$. Since $\sigma_n^{(1)}(u) = \sum_{k=1}^n \frac{V_k^{(0)}(\Delta u)}{k} + u_0$, it follows by (1) that (u_n) is slowly oscillating. Furthermore, for some slowly varying sequence (B_n) , we have $u_n = O(B_n)$, $n \to \infty$.

Since $u_n = O(B_n), n \to \infty$, it follows that there exists a finite interval I such that for every $r \in I$, there is a subsequence $\left(\frac{u_{n(r)}}{B(n(r))}\right)$ such that $\lim_{n(r)} \frac{u_{n(r)}}{B(n(r))} = r$. (See [1, 2]).

Notice that since (u_n) is slowly oscillating, for all nonnegative integers m, the sequence $(V_n^{(m)}(\Delta u))$ is subsequentially convergent [2].

As a corollary we have the following.

Corollary 2.1 Let $(V_n^{(0)}(\Delta u))$ be (C, 1) summable to s. If $(V_n^{(0)}(\Delta u))$ is $|C, 1|_p$ summable, then (u_n) is slowly oscillating.

Proof of Theorem 1.2

Applying Lemma 1.3 to (u_n) we have

$$\left| u_n - \sigma_n^{(1)}(u) \right| \le \frac{[\lambda n] + 1}{[\lambda n] - n} \left| \sigma_{[\lambda n]}^{(1)}(u) - \sigma_n^{(1)}(u) \right| + \max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^k \Delta u_j \right|.$$
(10)

Since (u_n) is (C, 1) summable to s, the first term on the right-hand side of (10) is o(1) as $n \to \infty$ and (10) becomes

$$\limsup_{n} \left| u_n - \sigma_n^{(1)}(u) \right| \le \limsup_{n} \max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^k \Delta u_j \right|.$$
(11)

For the second term on the right-hand side of (10) we have

$$\max_{n+1 \le k \le [\lambda n]} \left| \sum_{j=n+1}^{k} \Delta u_{j} \right| \le \sum_{j=n+1}^{[\lambda n]} |\Delta u_{j}| \\
\le ([\lambda n] - n)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j^{p}} \right)^{\frac{1}{p}}, \text{ where } \frac{1}{p} + \frac{1}{q} = 1 \\
\le ([\lambda n] - n)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j^{p-1}j} \right)^{\frac{1}{p}} \\
\le ([\lambda n] - n)^{\frac{1}{q}} \left(\frac{1}{n^{p-1}} \sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j} \right)^{\frac{1}{p}} \\
\le \frac{([\lambda n] - n)^{\frac{1}{q}}}{n^{\frac{1}{q}}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j} \right)^{\frac{1}{p}} \\
\le (\lambda - 1)^{\frac{1}{q}} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j} \right)^{\frac{1}{p}}.$$
(12)

From (11) and (12) we have

$$\limsup_{n} \left| u_{n} - \sigma_{n}^{(1)}(u) \right| \leq (\lambda - 1)^{\frac{1}{q}} \limsup_{n} \left(\sum_{j=n+1}^{[\lambda n]} \frac{|\omega_{j}^{(0)}(u)|^{p}}{j} \right)^{\frac{1}{p}}.$$
 (13)

Letting $\lambda \to 1^+$ in (13) and taking (3) into account, we deduce that

$$\limsup_{n} \left| u_n - \sigma_n^{(1)}(u) \right| \le 0.$$
(14)

From (14) we have $\lim_{n \to \infty} u_n = s$.

As a corollary we have the following.

Corollary 2.2 Let (u_n) be (C, 1) summable. If (v_n) , where $u_n = \sigma_n^{(1)}(v)$, is $|C, 1|_p$ summable, then (u_n) is convergent.

References

- F. Dik, Tauberian theorems for convergence and subsequential convergence of sequences with controlled oscillatory behavior, *Mathematica Moravica*, 5 (2001), 19 - 56.
- [2] F. Dik, M. Dik, and Y. Canak, Applications of subsequential Tauberian theory to classical Tauberian theory, *Applied Mathematics Letters*, 20 (2007), 946 - 950.
- [3] T. M. Flett, On an extension of absolute summability and some theorems of Littlewood and Paley, *Proceedings of the London Mathematical Society*, 7 (1957), 113 141.
- [4] J. Karamata, Sur un mode de croissance régulière des fonctions, Mathematica (Cluj), 4 (1930), 38 - 53.
- [5] Č. V. Stanojević, Analysis of Divergence: Control and Management of Divergent Process, Graduate Research Seminar Lecture Notes, edited by Y. Canak, University of Missouri - Rolla, 1998.

Received: April 16, 2007